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BIEREANRE 1800.00 mm
R/ 1.0 R8>
BRRIER 96.90 m
AFLEE £ 1.80 + FHE 1.20
BEEER 96.90 = 9390 m
IiE
BEIN)TE 1840.80 m
BET
AR—H—RFT 93.900 m
EAET 1500 m
HNET BEEXM 92.400 m
ImERERIR T 2.000 AR
BRERST 93.900 m
ECTAMIEAT
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ETCAMAby/I—T 20 &k
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KTAM2 EHE h  100.0 mm HAEHR dl 1682.5 mn FESHE a2 17.5 mm
BABEME d2 1765.0 mm ERIEE a3 17.5 mm
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15 B H = Bl &% &
F T A FCAMI[ 1.8000 *° X x /4 — 2,332 — 0.056 ;
25 DB2-1 —19.500 X 0.0014 %/m " | o130
B FoTAM 2 7 ;
DB2-2 [0.900 ® / 2 X[{x X 54.5 180 — sin 545 " 0. 056
3 N T
VEEL L ¥ = x /[(0.8825 + 0.00875° + 0.80875 2}/ 2 &
+ = x/[[0-8825_+ 0.008757 + 0.89125 %] 2 m 5. 473
YEEZ:
5.473 = 0.280 " 19. 5]
R A= T8
W= 1500 mm[ 1.000 = 0.500 p/# = 2.0 4% - 1.0
[ BRERANE
5418 + x = 1,725 mm |
EERNZEMER | L@ | {r x0.8825 X 0.8000} /2 = 1.1090 m2 0 7
FEf | {r x0.8825 x 0.8825}/ 2 = 1.2233 m2 " 2.332
EAEENZEWER n %/ {0.8825 7 +10.8000 >}/ 2 .
+ n XJ0.8825 2 +0.8825 %}/ 2 5.418
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| RTAM FTAMI[ 1.8000 *° X m / 4 — 2.332 — 0.056 3
25 DB2-1 —19.500 X 0.0014 p’/m ' " 0.130
FETAM 2 .
DB2-2 10.900 * /2 X(x X 54.5 , 180 — sin 54.5 ) " 0. 056
i 3t mik 0. 186
A MYy TH L # n X /{(0-8825 + 0.00875” + 0.80875 * ]~ 2 A&
+ = XJ/{[0.8825 +70.00875> + 0.89125 ° ]/ 2 " 5. 473|
ZNY y TR
5.473 + 0.280 m 19.5
AR —H— R
W= 1500 mm| 1.000 <+ 0.500 m/#r = 2.0 4% # 1.0]
BHEEARNR
5418 + ¢ = 1,725 mm
FEENZEMEM | EEH | {n X 0.8825 X 0.8000} /2 = 1.1090 m2 o
TEHE {= X 0.8825 x 0.8825},/ 2 = 1.2233 m2 2. 332
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+ = x/{0.8825 7 +0.8825 °}/ 2 5.418
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